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| 2 (] N 1 N=1 kg * m/s’
JE ik i U5 Pa 1 Pa=1 N/m’
Relim], Ih, g fE[H] ] 1J=IN*m
i, A Re] s RESR! W 1 W=11J/s
HA ey [ & (&) C 1C=1A-s
Mk, MEh#, fAr (o UNEST \Y% 1 V=1 W/A
HL 2% N EUA! F 1 F=1C/V
FA BH WK [4] Q 1 Q=1V/A
H T PELT]7] S 18=1Q"
fd i [ ] 33 1] Wb 1 Wb=1V+s
R P A VT SR EVA T 1 T=1 Wb/m’
FiJK = [F]] H 1 H=1 Wb/A
PG PR ICRE C 1'C=1K
ity [ ] Im 11lm=1cd * sr
D] s Bl Ix 1 Ix=1 Im/m’
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5[] N min 1 min=60 s
I ] (/] h 1 h=60 min=3 600 s
fi ] H, (X d 1 d=24 h=86 400 s
[T £ B ° 1°= (x/180) rad
(¥l fa (15 ’ 1" =(1/60)° = (/10 800) rad
(¥l fa ik ’ 1”7 =(1/60)" = ( m/648 000) rad
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1L=1 dm’=10" m’

1t=10° kg

1 u~1.660 540X 10*" kg

1 r/min= (1/60) s’

1 n mile=1 852 m C(HFIFHitH)

1 kn=1 n mile/h= (1 852/3 600) m/s (L FTHitT)
1eV~1.602177X10"J

1 tex=10"° kg/m

1 hm*=10* m?




